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A. Complete the text with a suitable passive form of the verb in bracket. 
B.    Choose the correct answer

0. As soon as Dad _____, we left. 

A has the car starting

B got the car started

C got started the car
D was got starting the car
C.     Complete the text with one word in each gap.

Sleep deprivation can make us very angry, which is (0) why snoring …..

D.     a) Complete the second sentence so that it has a similar meaning to the first sentence, using the word given. Use between three and six words, including the word given.  Here is an example (0).
0. It may take several months to decide on the location for the new stadium.

MADE
It may take several months before a decision is made about the location for the new stadium.
        b) Finish each of the sentences in such a way that it means exactly the same as the sentence printed before it.

(conditional clauses and subjunctive) 

        c) Complete each of the gaps with two words. There is an example at the beginning (0).
0. She went on holiday with her friends, though we’d rather she had come with us.
E.      Use the word given in capitals to form a word that fits in the space.

	Ancient man used sticks of charcoal to draw pictures on cave walls in order to communicate (with, probably, their deities and (0) trainee huntsmen). 
	train


F.       Complete the sentence with a preposition.

G.      Circle  the best option A, B, C, or D to complete the sentences.

 (multiple choice, 30 sentences)

